
 
 

Level 2 – Fortgeschritten – Blatt 2 Lösung A1  a) 44,7876 ⋅ 10	 
 4,47876 ⋅ 10� b) �32,64 ⋅ 10�� 
 �3,264 ⋅ 10��  c) �6 ⋅ 10� d) 24,01 
 2,401 ⋅ 10  e) 4,208333 f) 1  g) 0,0000025 
 2,5 ⋅ 10�� h) �10�	  i) 303,5055 
 3,035055 ⋅ 10� j) 100 
 10�  k) �5 l) 0,0005 ⋅ 10� 
 5 ⋅ 10   Lösung A2  a) 300000000�� 
 3 ⋅ 10� ��  b) 9970000	��� 
 9,97 ∙ 10�	���  c) 150	Millionen �� 
 1,5 ⋅ 10�	�� d) 13 Milliarden Jahre 
 1,3 ⋅ 10�	 Jahre e) 2,5 Nanometer 
 2,5 ⋅ 10��	� f) 15	�� 
 1,5 ⋅ 10��	� g) 6307	�� 
 6,307 ⋅ 10�	� h) 0,04	� 
 4 ⋅ 10��	��  i) 800	 � 
 8 ⋅ 10�!	� j) 1	�� 
 10��	�  Lösung A3  a) 8,5 Milliarden 
 8.500.000.000		 ≙ 		10 Stellen b) 500 Millionen 
 500.000.000		 ≙ 		9 Stellen c) 10$�%&'( 
 10�%% 	≙ 		11 Stellen  Lösung A4   10�� 10�	 10� 10�� 10% 10	 10	 10�) 1,2 ⋅ 10� 0,01 0,001 1.000.000 11000 1 1000 1000 110) 120.000  Lösung A5   a) 7,349 ⋅ 10��	�� 
 7,349 ⋅ 10��	*. b) �,�!�⋅�%+,!,	��⋅�%++	 - 81,3. Die Erde ist etwa 81,3 mal „schwerer“ als der Mond. c) 380000	��� 
 380000000000	�� 
 3,8 ⋅ 10��	�� 


